CHRISTMAS

WORD PROBILIZMS X

Solve the following word problems.

Ricky counts 8 wreaths on doors in his neighborhood. Don counts 9
wreaths in his neighborhood. How many wreaths do the boys count in
all?

Gordon finishes reading a Christmas story in half an hour. Charlie
finishes in 40 minutes. Which boy finishes the story first?

Bernice leaves to look at Christmas lights at 6:30. If she returns at 7:00,
how many minutes was she looking at lights?

Tina receives 19 chocolates for Christmas. If her sister Patty eats 4 of
them, how many chocolates does Tina have left?

A first grade class of 18 kids sings Christmas songs for their parents. If
there are the same amount of boys and girls in the class, how many are
there of each?
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